Give answers to 4 decimals places unless otherwise indicated as “exact”.

11. What rotation is co-terminal to (within the restriction) [0,27[ [

Answer (exact): /E?
12.  In which quadrant is the trig point P(—13369)2 02 d
Answer: Vl

o (a4, Jorv)

13.  Given a circle (with center O) whose arc AB has a length of 40 cm and a radius of 6
cm, find the corresponding central angle (#A0B) in radians.
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14. What |s the exacj value of COt—’> a ,Answer (exact): é

Answer(exact):
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If Secx = — ,then what is the value of smx? Answer (exact): _ g
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16. Knowingthat T < t < 3—” , find the value of t, if Sint = —0.3
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Answer :
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17. What is the exact value of SIT T7 Answer;

18. In which quadrant is P(—S)? Answer: i

4
19. Given the trig point P(@) = (— E’ cen ) and knowing that P(6) is located in the 2"

quadrant, determine the value ofW

¢t @ >

3T —-291m
20. Are the following rotations co-terminal: —— and 4
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Answer (exact) : S
e

Give answers to 4 decimals places unless otherwise indicated as “exact”.

T
1. Find the rotation co-terminal to within the restriction [0,27[[.
Answer (exact):

2. Inwhich quadrant would you find trig point P(—1336°)2
Answer:

3. Given a circle (with center O) whose arc AB has a length of 40 cm and a radius of 6
cm, find the corresponding central angle (£A0B) in radians.

Answer(exact):

7T
4. What is the exact value of COt ?? Answer (exact):

5 .
5 If Ssecx = Z , then what is SINX? Answer (exact):

3w .
6. Knowingthat T < t < ~ find the value of t if sint = —0.3
Answer :
. —5T
7. Determine the exact value of SIN T’? Answer:
8.  Inwhich quadrantis P(—5)? Answer:

4
9. Given the trig point P(@) = (— E’ cen ) and knowing that P(6) is located in the 2"

quadrant, determine tan o . Answer (exact) :

3w —-29m
10. Are the following rotations co-terminal: — — and
4 4
Answer:




